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Section 3  Session 8 Session Focus
Addition and subtraction

30 + 40	 =

90 – 50	 =

36 + 40	 =

54 – 30	 =

What is

15 add 6?

21 subtract 4?

the difference between 
21 and 18?

the total of 21 and 9?

How many if you have 

14 grapes and 6 more?

23 blueberries and eat 7?

74 pencils and break 5?

29 brushes and 7 more?

64 peaches and sell 30?

20 marshmallows and eat 8?

20 oranges and sell 4?

20 books and give away 13?

How much water?

45ml and another 20ml.

20ml and 11ml more.
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45 minus 5?

34 and 30?

72 minus 40?

20 subtract 8?

20 take away 11?

20 subtract 18?

9

10

9

2

65ml

31ml

3 = 70+64

9 = 20+12

4 = 89–97

10 = 20+19

5 = 21+13

6 = 28–32
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